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QUESTION 1

A system administrator would like to capture accounting and statistics data to analyze performance of
channels across multiple platforms.

Where can the system administrator capture the data?

A. IntheSystemManagementFacilitySMF.

B. On SYSTEM.ADMIN.PERFM.EVENT queue.

C. OnSYSTEM.ADMIN.ACCOUNTING.QUEUE andSYSTEM.ADMIN.STATISTICS.QUEUE.

D. On SYSTEM.ADMIN.ACCOUNTING.QUEUE and SYSTEM.ADMIN.STATISTICS.QUEUE for distributed platforms
and in System Management Facility SMF for the z/OS platform.

Correct Answer: C

QUESTION 2

After a system crash, a system administrator tried to start gueue manager QMI, but it failed with this error:
AMQ7047: An unexpected error was encountered by a command. In the queue manager error log, this
error was reported:

AMQ7472: Object QMI, type catalogue damaged.

The queue manager was using linear logging.

The system administrator needs to recover the queue manager. How can the system administrator do
this?

A. Restore the queue manager active logs from a back up.

B. Run rcdmgimg command against the queue manager object.

C. Run rcrmqgobj command against the queue manager object

D. Delete the le containing the damaged queue manager object and restart the queue manager.

Correct Answer: D

QUESTION 3

A nancial company is having a problem with IBM MQ on their development system. The queue manager is not down,
but the new application keeps failing and MQ generates FDC les. This problem is signi cantly affecting the business as
they could miss the project deadlines. Thesystemadministratorneeds toopena ServiceRequestSR
toreporttheproblemtolBM. What should be the severity of the SR raised by the system administrator?
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Al
B.2
C.3
D. 4

Correct Answer: B

QUESTION 4

A system administrator is planning to enable events when queue manager objects are created, changed or
deleted.

Which events should the system administrator enable?

A. Logger

B. Performance

C. Con guratin

D. Queue Manager

Correct Answer: C

QUESTION 5

A system administrator of a zZ/OS queue manager expects to have 1000 client channels connecting with the
gueue manager at the same time.

What should system administrator do to tune the channel initiator to handle this work?

A. Use the default values for the channel initiator parameters.

B. Increase MAXCHL, ACTCHL, TCPCHL, CHIADAPS, and CHIDISPS from the default values.

C. Increase CHIADAPS and use the default values for CHIDISPS, MAXCHL, ACTCHL, TCPCHL.

D. Increase CHIADAPS and CHIDISPS and use the default values for MAXCHL, ACTCHL, TCPCHL.

Correct Answer: B

QUESTION 6
IBM MQ V7.0.1.3 is running on a server.

A system administrator receives request to install IBM MQ V8.0 as a second installati n on a server where
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IBM MQ V7.0.1.3 is running. Both the product versions need to co-exist. What should the system
administrator do rst to ensure both versions will run without impacting each other?

A. Upgrade IBM MQ V7.0.1.3 to 7.0.1.6.

B. De nea separateinstallati nname.

C. De ne a new data directory for IBM MQ V8.0.

D. Set up environment variables to have both product versions installed in the same path.

Correct Answer: D

QUESTION 7

While monitoring a message queue, a system administrator nds a continuous growth of unused topic
node subscriptions on a queue manager.

Which parameter should the system administrator decrease to reduce unwanted topisc?

A. PUBSUB

B. TPCOUNT

C. TREELIFE

D. SUBCOUNT

Correct Answer: C

QUESTION 8

Application A is connected to a queue manager that is named QMI. Application B is connected to a queue manager that
is named QM2. The messages that Application A puts to a queue on QMI, must be transferred to QM2 only when QM2
noti es QMI that it is ready to receive the messages. What channels must the system administrator create on QMI and
QM2 to support this topology?

A. A sender channel on QMI and a receiver channel on QM2.

B. A sender channel on QMI and a requester channel on QM2.

C. A server channel on QMI and a client connection channel on QM2.

D. A server channel on QMI and a server connection channel on QM2.

Correct Answer: C

QUESTION 9
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A z/OS batch application called ORDRPROC processes order messages. Each message is 30 to 40 KB in size. In the
past, a non-shared local queue was used and the application was always run on the same single LPAR. As part of a
24/7 high availability project, the queue is to be converted into a shared queue, so the processing can take place on any
of four LPARSs, but it is critical that the messages are processed by only one instance of the batch server program at a
time. The shared queue is to use an existing Coupling Facility structure named BATCHMSGS which is con gured to
offload messages larger than 24 KB to shared message data set SMDS. In addition to setting QSGDISPSHARED,
which a ributes amongst others must the system administrator use within the de ne QLOCAL command for the new
shared queue to support these requirements?

A. OFFLOADSMDS SHARE

B. DEFSOPTSHAREDNOTRIGGER

C. CFSTRUCTBATCHMSGS NOSHARE

D. STGCLASSSHARED PROCESSORDRPROC

Correct Answer: C

QUESTION 10

On a Linux system, a system administrator needs to change the default queue manager from QMI to a

newly created queue manager QM2.

How can the system administrator do this?

A. Re-createQM2withthe-doption.

B. Use the ALTER QMGR command.

C. Edit the DefaultQueueManager stanza in gm.ini replacing QMI with QM2.

D. Change the queue manager name on the Name a ribute of the DefaultQueueManager stanza to QM2 in mgs.ini.

Correct Answer: D
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